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ol AEY O SNE MM U IEYY X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TEA O BMNS MA L IIELA K| 285,577 238,934 46,643
== 15,000
= 270,577
=Ml EE (=Hl) 37,500 37,500 0
o= 15,000
= 22,500
307 2Iz2t0| & 37,500 37,500 0
o= 15,000
= 22,500
06 22 37,500 37,500 0
O JII=EMHEE 37,500,000 37,500
& 15,000
o 22,500
EQAZE MDISEXZAHXEA) 10,000 10,000 0
201 LBt ]| 10,000 10,000 0
01 AP 22| d| 10,000 10,000 0
O EQAZ MIOIISHEXE A 10,000,000 10,000
IEYUAANY =& 221,277 191,434 29,843
101 2121 d| 19,510 9,667 9,843
02 JIEtE 2 % 19,510 0 19,510
O SLYG A = 600,000 2 x12& 14,400
O BEYALIAN 25 (2U224Y)
7,097 2 x30A 2+ 12E 5,110
201 et d| 19,767 19,767 0
01 A2t 2| bl 2,060 2,060 0
O JtsgoeEr 2yl
7,000& * 3¥ » 60Y 1,260
O IIsYdEFx Eote 80,000& * 100H 800
02 Z2=2=24%4| 17,707 17,707 0
O XIEHAMN & 2523 17,707 ,000& 17,707
202 044 4,000 4,000 0
01 2L Y| 4,000 4,000 0
O s gd =& gl 4,000,000& 4,000
206 M = Hl 38,000 38,000 0
01 X2 H| 38,000 38,000 0
OAl & 2HS ASHE X
25,000& *400kg 10,000
O e=24e ME I 2 25,000,000 25,000
O IIESSHIEINANN 2 300,000 x105 3,000
301 LBt A= 140,000 120,000 20,000
11 JIEtE A2 140,000 120,000 20,000
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O |Js28 7,28, 28 Fdl 2L
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301 et a3z 6,000 0 6,000
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O RIls=s #*x, &5 s =¥
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HERIZH (sgSL) 107,410 105,910 1,500
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201 L2l 23,400 23,400 0
01 At 22l 21,000 21,000 0
O e+t 15,000, 000& 15,000
O =&l 6,000,000& 6,000
02 =224l 2,400 2,400 0
O B3R 2,400,000 2,400
202 oddl 5,000 5,000 0
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203 YR =&l 3,600 3,600 0
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01 SLHOIYI 4,500 4,500 0
O gRF& ol 4,500,000 4,500
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S WEAHAHX =
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
Hees(sgsat) 500,000 500,000
HEAHHKI = 500,000 500,000
HWEAHHX S (=S F4t1) 500,000 500,000
702 J1SHES 500,000 500,000
01 JI3dE= 500,000 500,000
OJlz=sd2xNMIIIABAIIZ A

500,000,000& 500,000
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